Subject: Re: CURVEFIT function
Posted by Petros Syntelis on Fri, 05 Jul 2013 09:51:54 GMT

View Forum Message <> Reply to Message

On Thursday, July 4, 2013 2:47:14 PM UTC+3, fd_...@mail.com wrote:

> Hi,

>

>

>

> | was wondering if there is any command that | can put in the function CURVEFIT in order not

print out the following:
>

CURVEFIT: Failed to converge- CHISQ increasing without bound.

Many Thanks

VVVVYVYVYVYVYV

M

You used it in a wrong way. you set

status=status

and after you run

yfit=curvefit(...., status=status)

you see the result of the computation by

print, status

Then the status variable takes the values of 0,1,2 which stand for one of the three cases.

Petros
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